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INSTRUCTION TO CANDIDATES
Immediately after getting the booklet read instructions
carefully, mentioned on the front and back page of the question
booklet and do not open the seal given on the question booklet,
unless asked by the invigilator.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.
After opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and
printing of all the 150 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for
each question choose the correct/ most appropriate option
out of four options given, as answer and darken the circle

“provided against that option in the OMR Answer-Sheet,

bearing the same serial number of the question. Darken the
circle only with Black or Blue ball point pen.

Darken the circle of correct answer properly otherwise answers
will notbe evaluated. The candidate will be fully responsible
forit. -

There are 150 objective type questions in this question
booklet. 1 mark is allotted for each correct answer and
1/4 mark will be deducted for each wrong answer.

Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer-
Sheet and cover page of question booklet is to be handed
over to the invigilator. Carbon copy of the Answer-Sheet
and Question Booklet may be taken away by the examinee.

This Question Paper consists of Sections namely :

Section -1 50 Marks
(1) Analytical Reasoning Skills 1-20
(2) Verbal Skills 21-35
(3) General Awareness and Current Affairs 36-50
Section - II 100 Marks

(1) Digital Logic (2) Computer Organization and
Architecture (3) Programming and Data Structures
(4) Algorithms (5) Theory of Computation (6) Compiler
Design (7) Operating System (8) Databases (9) Computer
Networks (10) System Programming (11) Software
Engineering (12) Web Application Design & Development
etc. torelated question.

In case of any ambiguity in Hindi version the English
version shall be considered authentic,
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SECTION -1

(1 ANALYTICAL REASONING

SKILLS

In the given figure, the shaded sector
equals 1/6 of the area of the circle, then
what is the length of the arc shown in
bold ?

O )60°

10 cm
(A) 30z

o 40z
® =

o 20z
© =
(D) 20z

What is the largest 4 digit number exactly
divisible by 88 ?

N

T - |
(1) TTfefeerer et e

& 1 Torsr o o aTen &7 99 % SA%A &
6 &t Tet & e} § 1 A HIS) W & =Y 5
LT 7 ?

(A) 30z
40z
® -3
20z
©
(D) 20z

88 ¥ Ul v BH A1 4 3k 1 AfHeHaH
T N ®? |

(A) 9900 (A) 9900
(B) 9944 (B) 9944
(©) 9988 (C) 9988
(D) 9999 (D) 9999
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100 bananas were bought at ¥ 350 and
sold at the rate of ¥ 48 per dozen. What
is the percentage of profit or loss ?

2 ,
(A) 11-% loss

IRY P
(B 1 = % profit
> ' '20 .y
(@) 14—7" % profit *

2
(D) 14 ;% loss

In a class of 60 students the number of
boys and girls participating in the annual
sports is in the ratio of 3 : 2 respectively.

The number of girls not participating in

sports is 5 more than the number of boys
not participating in the sports . If the
number of boys participating to the sports
is 15, then how many girls are there in
the class ?

(A) 20

(B) 25

(C) 30

(D) 32

What is the volume of the given figure 7

—r
6.cm
!
(A) 864 cm? |
(B) 864 cm3

(C) 1728 cm?
(D) 1728 cm?

3.

Z350 § 100 el AT T R T 48 i g5
I A QW 9= T A feas wiave ey
1 eI B ?

2

(A) 11—7~%grﬁ1
10

(B) 117% =y
20

© 147% =

(D) 14;% RG]

TF & W 60 BE-BEE © difbs Higl
it & 9T @9 91 dghi Ud ASiRal
I A H I FAW 3:271 WS H
T T T Al SRl @t e shigl o
AT A& A9 ATl ASHl @t g 9 5 i
?1 afg e § o @R Ot Wl Wl ge
15 <t wan ¥ fepeart wrefmarl &2

(A) 20
(B) 25
() 30
(D) 32
e T fax 1 STETA FR?

)
icm

(A) 864 cm?
(B) 864 cm?
(C) 1728 cm?
(D) 1728 cm3
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If 1 mm thick ‘paper is folded so that the
area is halved at every fold, thén'what
would be the thickness of the paper after
50 folds ?

(A) 100 km

(B) 1000 km

(C) 1 million km
(D) 1 billion km

Count the number of triangles in the

given figure :

A

J_/>\;

A) 21
B) 18
) 20
D) 22
An aeroplane covers a certain distance at
a speed of 240 kmph in 5 hours. To cover

2
the same distance in 15 hours. It must

travel at a speed of :
(A) 660 km/hr

(B) 700 km/hr-

(

(

—

C) 680 km/hr
(D) 720 km/hr

I 1 mm 92 TR Y @ A S w
e SR HIg W TR T &5 ST & e T
q 50 HIg & 9 W YW T AR foha
T ?

(A) 100 fem.H.

(B) 1000 fer.Hl.

(C) 1 fafe= fw..
(D) 1 faferm fem.

fea & fax & Bgsil = 9@ & oA
SHifeTT

N\

N

(A) 21
(B) 18
(C) 20
(D) 22

Tk g1 Sters ferdt fofeaa g s 240 for o,
wier s Y TR ¥ 5 5§ g war ¥ @
=i 0 B 1 s w % f s
@ i TR fRaAt ST =fee ?

(A) 660 fom.H. /=

(B) 700 Tt /=@

(C) 680 fo.Hl. /=

(D) 720 fem.H1. /5@
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10.

In a group of persons travelling in a bus,
6 persons can speak Hindi, 15 can speak
English and 6 can speak Telugu. In that
group, none can speak any other
language. If 2 person in the group can
speak two languages and one person can
speak all three languages, then how many
persons are there in the group ?

(A) 21

(B) 22

(D) 24

How many dots lie opposite to the face
having three dots, when the given figure
is folded to form a cube ?

ARl T TF U A T W@, 6 AR
&<t ot wa €, 15 =afet S70sH e g
¥ 3R 6 =afi e Set weRd ¥ 1 Su gng A
gash rfafier 18 2R amar § = sier weha |
Ife wag ° < AR I o9 Fe Wohd © 3R
T A wef i AT e e § 1 S
g ¥ ot fera wafem ¥

(A) 21
(B) 22

(C) 23

(D) 24

w4 fgd T o = i T v S 5
W 3 forg arel e o faafa o feaa fag
1A Feleh BT 2

(A) 2
(B) 4
(C) 5

(D) 6
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11.

12.

P, Q, R, S, T and M are six students of a 11.

school, they study in Class I - VI each of-
them has his own favourite colour from
red, black, blue, yellow, pink and green,
not necessarﬂy in the same order, Q likes
black and doesnot study in Class [V or V, .
the one who studies in Class IV doesnot
like green, P studies in Class II. M likes
blue and doesnot study in Class IV. The
one who likes yellow studies in Class VL
S likes pink and studies in Class I, R
doesnot study in Class VL.

Then which of the following combination

is correct ?
A) P-II-Yellow

B) R-IV-Red

o =

(
(
(C) Q-II-Green
(D) S-1-Black

Figure shows a trapezoid. What is the 12,

area of the trapezoid (in m?)?

(A) 150
(B) 120
(C) 108
(D) 96

P,QRS TIRMTEGFAH6BAG! o
FHETI Y VIH 9gd &1 IS i o, Hiel,
e, dra, et 3 0 H § 310 THe
W eI e Hm O W Fa A I
T e &1 Q T el 1 7HE § IR 7%
FETIV ATV H e 950 T % TH S HaE
IV H 9gd ¢ 80 U1 99E &l il | P et I
H wedr €, M &l el 7HE § 3R 9% HE IV
H & qga @1 T S Hen T1 uhE F®
FATVIH T €1 S e 71 76 & &R
e 1§ gear §1 R en VI H Tl ve §1

AT G IA @SS " ©?

(A) P-II-Yem
(B) R-IV-d
(C) Q-II-70
(D) S-1I- 3wl

o # w oo =gy feern wr g 3w

T TS 1 Awel (e §) a1 gm ?
A+«—12m—D

T \10'

8r11 2

90°

e N\

(A) 150

(B) 120

(C) 108

(D) 96

SPACE FOR ROUGH WORK / T% 1 & &9 sig

9021/ID-BS/RCE-M 7

Set-D




13. Choose the figure which is different from 13. 39 fa3 & gfw Trﬁ EEIRCER AR E R
rest : i A
RN Tl R [
| \
o © ®  ® M @ ® @
(A) (1) (Aa) @)
B) (2 (B) ()
© 4 © G
D) @ (D) ()

14. Theageof Sahiland Tanya areintheratio  14. el 3R 1= & 37 & AT U
of 11 : 7 respectively. After 8 years the 11:7% 899 TR ST 3 I ST
ratio of their age will be 15 : 11. What is 15: 11 & S| 3 39 H fopeq o &
the difference in years between their HIRG?
ages ?

(A) 6 years (A) 69
(B) 4 years (B) 479
(C) 8 years (C) sod
(D) 10 years (D) 10 =d

15. In a cricket match, Five batsmen A, B, C, 15, T fonhe 9 & 9= seetest A, B, C, D iR
D and E scored an average of 36 runs. D E 36 T % oiHd § TR & &1 D I TR
scored 5 more than E, E scored 8 fewer S T S ®E @, E, A q 8 T HH TR HT
than A, B scored as many as D and E %IBWW%WD@TEWW
combined. B and C scored 107 between Fd €1 B R C faemet 107 @ 9 R 4
them. How many run did E score ? E =1 TR feram g ?

(A) 62 (A) 62
(B) 45 (B) 45
(C) 28 (C) 28
(D) 20 (D) 20
SPACE FOR ROUGH WORK / % &r % ferdr wmrg
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16.

17.

18.

The pgpulation of Rampur increased from
1,75,000 to 2,62,500 in a decade. What is
the average percent increase of the
population per year ?

(A) 4%

(B) 5%

) 6%

D) 7%

A, B, C, D, E and F are six members in a
family in which there are two married
couples, D is brother of F. B is mother of
D. Cis lady. The grand father in the
family is “A’.

Then which of the following is a pair of
married couples ?

(A) BC

(B) AD

(C) BE

(D) None of these

A woman says “If you reverse my own
age. The figure represent my husband’s
age. He is ofcourse senior to me and the
between our

difference age is

one-eleventh of their sum”. The woman’s
age is :

(A) 23 years

(B) 34 years

(C) 45 years

(D) 54 years

16.

17.

18.

wﬁmwmﬁ 1,75,000 &
2,62,500 9 T ¥ | Tedreh o W S e
gfg = gfawa 01 €2

(A) 4%
(B) 5%
C) 6%
(D) 7%

A, B,C, D, E 3R F 6 9e&=1 § T 1RER ¥
ooy < sy S €1 D, F# 9§ R
B, D & AIaT §1 C Tk ufgen § VA’ aRer §
HHES

< Frerifea & A 2 1 TR e $2

(A) BC
(B) AD
(C) BE
(D) T8 4 wE T

@mﬂﬁ%“wﬁmﬂiwaﬁm
ﬁﬁnﬂawéﬁ?ﬁm‘rmm@’ﬁaﬁ’{
o 1 39 ¥ F I 9 T 70 T A H
3o AN 3W F AN H 119 Wi ¥ 1 Afgen
Twﬁ?:'g%:

(A) 2359
(B) 34 99
(C) 45
(D) 54 5
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Study the following graphs and answer the
Questions 19 and 20 :

(in thousand ¥ per quintal)
N W W s O
S S LS

_= = N
cunoad

19.

20.

<

Four crops with their MSP in 3 years are
shown as follows :

Y
A
P
MR o]

40 40
| D R 35 jo .’: :'///,
= y ._-',' l: L

S Z R
il b LTl T
77, 4 XX -'z':
o peXX]
A 3 X A

M //"’. - | % o
_ ZRSIt
) eXX =

- ZR w7
A O leasixx Z

|_ A paxx EA4

From the above data give answer of
Q 19 and Q 20.

Which crop is better with respect to
increasing MSP ?

(A) P
B) Q
© R
D) S

. Which crop is getting constant MSP ?

(A) P

B) Q
© R
(D) S

U9 19 TH 20 o ST o foTu 51 s <Rt eremas
I :

3 g8 H WX HESA! bl 376 MSP & 91 39
YRR ST TR
Y
50 e
w5 bl Q
a0 [ R -
35 ez o2 b
s
0 F2 2 5
e A 0l A T
oo 20 £ 2008 Pk
XN1504 Bixd1564 k
€ 157 5opx Z >><<>< é
\_/10— .'—:—: (X /’, '."XX %
5. mIXX| ] R A
0 sl A B
2015 2016
ST 2tihel ¥ Q 19TF Q 20 1 ST &I

19. MSP gfg % TMel $IF HEe ST 3731 &2

Z

SLEE-~ R @ B

8

20. TH9 wYel %1 MSP 79K @ &2
)

>

(
(B
(©)
(D)

w o™ oo =

)

SPACE FOR ROUGH WORK / TF &1 & fod wrg
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(2) VERBAL SKILLS/adeT fehed

21.

22,

23.

The active voice of the sentence

A poem is being recited by her’ is :
(A) She was reciting a poem

(B) She is reciting a poem

(C) She had been reciting a poem

(D) She will have been recitihg a poem

“There are seven criterions for selection

in the Army.”
The correct sentence is :

(A) There are seven criterias for
selection in the Army

(B) There are seven criteria for selection

in the Army

(C) There are seven critaria for selection
in the Army

(D) None of above

Use a correct modal to complete the

sentence :

You take care of your health.
(A) will

(B) can

(©) should

(D) may

24,

25.

“The Indian soldiers, though small in
numbers, fought doggedly with a huge
army without ........... "

Complete the sentence with the one of the
following word :

(A) Givingup
(B) Giving off
(©) Giving out

(D) Giving away

“ Avinash is an obedient subordinate and
he carries the orders with the drop of
hat.”

The correct sentence is :

(A) Avinash is an obedient subordinate
and he carries through the orders
at the drop of hat

(B) Avinash is an obedient subordinate
and he carries out the orders on the
drop of hat

(C) Avinash is an obedient subordinate
and he carries out the orders at the
drop of hat

(D) Avinash is an obedient subordinate
he carries out the orders on the drop
of hat

SPACE FOR ROUGH WORK / T% &Td & o srrg
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26.

27.

The sentence given below is in disorderly

form. Choose an arranged and

‘meaningful one :

(A) in/this/book/are there/pages/
how/many ?

(B) how/many/pages/are there/in/
this/book ?

(C) book/are there/pages/in/this/
how/many ?

(D) how/many/book/are there/
pages/in/this ?

Complete the sentence ’‘Malaria

(break) out in the city.

(A) has broken

(B) 1is broken

(C) has been broken

(D) had been broken

28.

29.

The passive voice of the sentence

“The cow eats grass’ is :

(A) Grass was eaten by the cow

(B) Grass had been eaten by the cow

(C) Grass is eaten by the cow

(D) Grass will have been eaten by the
COwW

Complete the sentence ‘He is a man of

(A) many words

(B) little words

(C) two words

(D) few words

SPACE FOR ROUGH WORK / T &1 & & srrg
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Read the passage and answer the questions
that follows :

The New Year is a time for resolutions.
Mentally, at least most of us could compile
formidable lists of “do’s” and ‘don’ts’. The same
old favourites recur year in and year out with
monotonous regularity. We resolve to get up
early each morning, eat less, find more time to
play with children, do a thousand and one jobs
about the house, be nice to people we don’t like,
drive carefully and take the dog for a walk
everyday. Past experience has taught us that
beyond

certain. accomplishments are
attainment. If we remain deep rooted liars, it
is only because we have so often experienced

the frustration that results from failure.

Most of us fail in our efforts at self
improvement because our schemes are too
ambitious and we never have time to carry
them out. We also make the fundamental error
of announcing our resolutions to everybody so
that we look even more foolish when we slip
back into our bad old ways. Aware of these
pitfalls, this year I attempted to keep my
resolutions to myself. I limited myself to two
modest ambitions : to do physical exercise every
morning and to read more in the evening. An
all night party on New Year’s Eve provided me
with a good excuse for not carrying out either
of these new resolutions on the first day of the
year, but on the second, I applied myself
assiduously to the task.

The daily exercise lasted only eleven
minutes and I proposed to do them early in the
morning before anyone had got up. The
self-discipline required to drag myself out of bed
eleven minutes earlier than usual was
considerable. After jumping about on the carpet
and twisting the human frame into
uncomfortable positions, 1 sat down at the
breakfast table in an exhausted condition.
However my enthusiasm waned, the time I
spent at exercises gradually diminished. Little
by little the eleven minutes fell to zero. By
January 10t T was back to where I had started
from. I argued that if I spent less time
exhausting myself at exercises in the morning [
would keep my mind fresh for reading when I
gothome from work. Resisting the hypnotizing
effect of television, I sat in ﬁy room for a few
evenings with my eyes glued to a book. One
night however, feeling cold and lonely, I went
downstairs and sat in front of the television
pretending to read. I realized that I soon got
back to the old habit of dozing off in front of
the screen. I still haven’t given up my
resolution, infact I have just bought a book
entitled "How to Read a Thousand Words a
Minute’. Perhaps it will solve my problem, but

I just haven’t had time to read it.

30. Past experience has taught us :
(A) where there is a will, there's a way.
(B) not to crib about the past.

(C) certain accomplishments are

beyond attainment.

(D) failures are not a part of life.

SPACE FOR ROUGH WORK / T &h1d o foi srrg
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31.

32.

33.

‘Announcing resolution is a fundamental

error’ as :

(A)

(B)
©)

(D)

we look foolish when we slip back
into our bad old ways.

we might invite competitions.

people might feel the need to add

their thoughts and views over it.

it might hurt someone.

New Year’s Eve provided me with a good

excuse for not carrying out either of his

my resolutions because :

(A)

(B)

©)
(D)

the programme on the T.V. were

very captivating.

I slept late so couldn’t wake up on

time.
one day does not matter much.

of all night party.

Most of us fail in our efforts of

self-improvement because :

(A)

(B)

(©

(D)

there is a lack of dedication.

our schemes are too ambitious and
we don’t have time to carry them

out.
we don’t need any improvement.

we don’t make any efforts.

34. The synonym for ‘pitfalls’ is :

(A) pit’s falling

(B) weaknesses

(C) drawbacks

(D) errors

35. ‘Little by little eleven minutes fell to zero’.
What was the writer’s defence ?

(A) the writer was lazy to wake up

early.

(B) the breakfast was too tempting.

(C) the alarm clock did not function.

(D) it would keep his mind fresh in the

evening for reading.

Set-D
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36.

37.

38.

39.

(3) GENERAL AWARENESS
AND CURRENT AFFAIRS

By which of the following the process of
India’s independence was finalised ?
(A) Cripps Mission
(B) Cabinet Mission Plan
(©

(D)

Wavell Plan
Third June Plan

Which of the following is India’s heaviest

Communication Satellite ?
Gsat-7A

B) Hyasis

Gsat-29

Gsat-11

‘Kaksar’ is the main festival of which of
the following tribe of this state ?

(A)
(B)
(©)
(D)

Oraon
Parja
Abujhmaria

Baiga

What is Kaal Baisakhi ?
(A) Warm Wind

(B)
©
(D)

Doldrums
Westerly Depressions

Thunder Storm of Summer Seasons

36.

37.

38.

39.

(3) SIS AT TS i< had

Frreafafaa o 9 forgs g/ 9RA & @[
&1 gt = 3ifaw w9 = 7 ?

(A) Torem s
(B) hfsHe M s
(C) =SS ISl
(D) S A

frefafEd § @ &9 W 9RG H 999 9]
IR SWE §?

(A) ST H-7T

B) wEHY

(
(C) st ®2-29
(

D) St de-11

30 Uy & freafafea 8 9 feg Senfa =
@ v FHhER’ §?

(A) =

qest

EEELIES]
m

(B)
©)
(D)

SHleT ST 1 &2

C(A) THEE

(B) <IgH
(C) k=t faany
(D) 7o =g 1 A

SPACE FOR ROUGH WORK / 7% &1 & fad g
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40. Which of the following folk-dance is  40. 39 {9 &I oA Sfa gR1 freferfaa o 9
performed by the Satnami community of HITT - TohaT ST 82
the state ?
(A) Panthi (A) deft
(B) Sua (B) 9gs3m
(C) Chandaini-Gonda () I
(D) Karma (D) =tH
41. Who of the following set on fire the 41, A SIS SR % S 39 T H gl &
District Court of Durg in this state during oo sesdt = Frefafes # 4 fegr am
the Quit India Movement ? S ?
(A) Ramkrishna Singh Thakur (A) THE fHE 3ET
(B) Saryu Prasad Agrawal (B) 9 WHI T
(C) Yadunandan Prasad Shrivastava (C) IgHeA YR drard
(D) Raghunandan Singrol (D) <A famia
42. Which of the following is true about 42, HIN ufESHl & fawg # f=1 & s
Gaganayaan Project ? @ e?
(a) Unmanned mission for Moon (a) I=Hl & foaw arerfen favm
(b) Manned space mission to be (b) o 2022 T ¥ T Wiga stafter fieH
undertaken by 2022 EIRIECAERIES E
() % 10,000 crore is allocated for the (c) 39 ufEsHr & faw 10,000 w10
project Jrafeq fomam o B
(d) Such missions have been (d) 39 YR & TaeH e W, = ok
undertaken by only Russia, China 3TRIeRT BT ratfa fopg e ¥
and United States
(e) The mission will consists of two (e) =W THeA ¥ 2 & W< B
member crew
(A) @ (9, @ (A) (@), (©) (d)
B) (), () (d) B)  (b), (o), (d)
©) ©. (@) (e ©)  (© (@) (e
(D) (@), (e) (2 (D) (@) (e) (@)
SPACE FOR ROUGH WORK / T% &8 & for&r sg
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43,

44,

45.

46.

Which player FIFA has declared The best
footballer/men’s player of the year
2018 ?

(A) Lionel Messi

(B) Luka Modric

(C) Mohamed Salah

(D) Cristiano Ronaldo

Which of the following is not true about

International Solar Alliance (ISA) ?

It was launched by India and
France in 2015
It is an alliance of more than 121

(a)
(b)

countries

The alliance has partnered with
World Bank to launch Global Solar
Atlas '

Its Headquarter is at Paris

(@), (b), ()

(b), (c), (d)

(d), (©), ()

‘None of the above

(©

(@
(A)
(B)
©
(D)

Who has been recently appointed as
Chief Economic Advisor of Government
of India ?

(A)
(B)
(@)
(D)

Krishnamurthy Subramanian
Arvind Subramanian
Shaktikant Das

Hasmukh Adhia

GDP growth rate is calculated with which
of the following year as base year ?

(A) 2004 - 2005

(B) 2011 - 2012

(C) 2015 - 2016

(D) None of above

43.

44.

45.

46.

T g fora faael =1 a9 2018 1 g9
Feare faenel (qey faemer) =t faman
™Y

(A) foEme o

(B) A Hifge

(C) HIgHT HeTg

(D) forfcam et

1 ¥ ST IR TR (ISA) & fawa
HRnadt & 872

(a) 99 2015 ¥ TR YEC WRA 3R TiF
= forani

g 121 <9 W i W TR
Tl

TEtEe WA T i YOI i &
fere werg 7 gee 9% & WY 9ERh
H T

) THH e Ui  feo ¥

) (a), (b), (©)

) (b), (9), (d)

) (d), (o), (@)

) ST H 9§ HE o T

T § H YNGR o & 1 Temssr
% w9 ¥ forge! frgfaa g8 €72

(A)  Fomfd gema
(B) o< oI
(C) wifekTehid STH
(D) THHE R

GDP gfg T &1 7o & fau 1 § 9 T
ad Y eMuR 99 &% ® H o T g2
(A) 2004 - 2005

(B) 2011 - 2012

(C) 2015 - 2016

(D) W H | HE off T

(b)
(©)

[N

Nn=

J

SPACE FOR ROUGH WORK / % & & ferr swrg
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47.

48.

49.

50.

Which sector has more contribution of
gross state domestic product in this
state ?

(A) Primary Sector

(B) Secondary Sector

(C) Tertiary. Sector

(D). Manufacturing Sector

Which of the following constitute the
Vedanta Philosophy ?

(A) Sambhitas

(B) The Brahmanas

(C) Upanishads

(D) Puranas

New State Government of this state has
transferred recently, as the first major
initiative towards waiver of loan of
farmers, which of the following amount
in the accounts of farmer ?

(A) < 1248 crore
(B) < 1148 crore
(C) T 1238 crore
(D) None of above

What is the name of cyclone which
affected this state and caused heavy
rainfall recently ?

(A) Vardah

(B) Phethai

(©) Gaja

(D) None of above

47.

48.

49.

50.

T T A g 89 & weha e AR |

afYes 3fveM ®7?

(A) WigfaeE &Fh
(B) fadta &=

(C) T &=
(D) fafaior g

frefafas § ¥ frad e o safife
77

(A) dfard

(B) RN

(C) 3uHwR

(D) =

TH TG & Tf WHR 1 e § § vum e

Tedl % &9 U, frgrEl ¥ %S 9w & fa
T @ forg ufyn =) vl fren 82

(A) T 1248 S
(B) <1148 &S
(C) %1238 S
(D) T F %K ot 7

e @A & FRO A & H I8 TS gIfed
TN YT TR 3TeAferh i g8 ?

(A) TER
(B) 1Tz
(C) I
(D) ST A 1 7

SPACE FOR ROUGH WORK / T® @14 & o wvig
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51.

- 52,

53.

SECTION - II

In Doubly circular linked list, data is

stored in :

(A) Adjacent location

(B) Different location in memory
(C) Neither (A) nor (B)

(D) Tree structure

V & V diagram includes :

(A) Only Validétion

(B) Only Verification

(C) Both Verification and Validation

(D) None of these

For a positive edge triggered JK flip-flop,
if value of J=0 and K=0, what will be
output state of JK flipflop ?

(A) low state
(B) high state

(C) toggle state

(D) no change

51.

52,

53.

T - 11

Tl wEeR feige fore # e =1 ©R fEn
TR

(A) frwead @R H
(B) HH & STETT- TR T o
(C) A (A)T& (B)
(D) 3t e A

o wg ot s A Wit €
(A) e qrl

(B) e HAUA

(©) < TR SR FHIOTEHRT
(D) T QA FE T

T HHIHeE O fIe JK fe-wrg &
foru, JK Rerd—9eiId ol MEeYE T o1 &I
W J=0 R K=0 T 81

(A) e we
(B) = WL
(C) T W
(D) IS el Tl

Set.- D




54.

55.

Which is the correct T(M) for the DFA "M’
which is described in following DFA ?

(A TM
substring ab}

)y={we{a}*|w ends in the

(B) T(M)={we{b}*|w ends in the
substring ab}

© T(
substring ab}

M) = {we {a, b} |w ends in the

(D) TM
substring ab}

)={we{a, b}*|w ends in the

Consider a CSMA/CD network that
transmits data at a rate of 100 Mbps (108
bits per second) over a 1 km (kilometre)
cable with no repeaters. If the minimum
frame size required for this network is
1250 bytes, what is the signal speed
(km/sec) in the cable ?

(A) 8000
(B) 10000
(C) 16000

(D) 20000

54,

55.

=1 DFA ¥ aftld DFA ‘M’ & fau =9\ @

& T(M) &2

/;
g ; *%ﬁ" L@

(A) T(M)={we{a}*|w, ab FafgT &
AT B S E )

(B) T(M)={we{b}*|w, ab qafgT &
AT B S § }

(C) TMM)={we{a, b}|w, ab FarET &
T B e ¥ )

(D) T(M)={we{a, b}*|w, ab FafgT #
TET B S R )

TH CSMA/CD d2gd W foar =¥ sit
fdied g 1 fodft (forarteR) e
100 THsHEE (108 foe i V) = =
T T2 yEId w1 § 1 Afe 39 Aead & fog
SEYTF AT U7 SRR 1250 3 ©,
Faa | o fa (forht/She) T §?

(A) 8000
(B) 10000
(C) 16000

(D) 20000

SPACE FOR ROUGH WORK / T% &4 & fora srg
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56.

57.

58.

Consider the natural join with relation R
and relation S. If S has 200 tuples and R
has 12 tuples then the maximum and
minimum number of tuples that can be

retrived :

(A) 200, 200

12, 200
200, 12

12, 12

In a two-pass ass_embler, adding literals
to literal table and address resolution of
local symbols are done during.

(A) First Pass and Second Pass

respectively

Second Pass

(B)
©

Second Pass and First Pass

respectively
(D) First Pass

How many configuration directives
pertinent to PHP’s mail function are

available ?
Aa) 7

(B) 4

56.

57.

58.

fiod R W foiem S & A9Ra 9 &
2 B T g3 S S % 200 S § R R
F 12 HIA § a9 IR H Afgwan R
2R HEen Bl S fgea @ ued §

(A)
(B)
(©)
(D)

200, 200
12, 200
200, 12

12, 12

Teh Q-9 Ao 8, wnfeess aiferem o wnfecen
Sirgehi 3R T alten! (local symbols) bl
ey o™ (var gatar) fF s g

(A) T I N O U hE:

(B) WU
(C) THU U IR Tgall I A

(D) el 9™

PHP & 9d %M & fau yEfies e
IR S ST & ?

(A) 7
(B) 4
© 3

D) 5

SPACE FOR ROUGH WORK / 7% &9 & f&a g
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Acsg=1(G, w)| the context sensitive  59.

59. Acgg = (G, w)| F=F HHET T G T2
-grammar G accepting the input string . w} & w =l SRR w8 o
then = -
(A) Acggis decidable (A) Ay Freitfa &
(B) Acsg is undecidable (B) Acgg A0 §
(C) Agggis interpretable (C) Acsg TR §
(D) None of the above (D) ST H FiE ot 7
60. Software testing prodﬁéés : | 60. TSI TLE I SeUTE
(A) Reliability (A)  Torverastaar
(B) Quality (B) Torer
(C) Customer satisfaction (C) —TTeeh Hfte
(D) All of these (D) ¥ =@t
61. Which of the following address"ingmode 61. Frafafea o 9 wH-w wgfan @, F=ney
is best applicable to access elements of an THRT TR a1l 3 TEAHE i ToHd ST
array of contiguous memory locations ? o foTu werd o1t 2 ?
(A) i_Displvacement mode (A) f?f@@ﬂ'ﬁ? e
(B) Base Register mode (B) &% =X O
(C) Indexed addressing mode (C) TISHRE @FFI"T e
(D) Relative address mode - (D) T @Y HE
SPACE FOR ROUGH WORK / % &4 & e serg
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62.

63.

64.

The message 11001001 is to be transmitted 62.

using the CRC polynomial x*>+1 to
protect it from errors. The message that

should be transmitted is :
(A) 11001001000

(B) 11001001011

(C) 11001010

(D) 110010010011

Which method is used to merge the bodies 63.

of two loops is ?

(A) Loop jamming
(B) Cross validation
(C) Loop rolling

(D) None of above

Which is true about syntax and semantic 64.

parts of a computer language ?

(A) Semanticsis the responsibility of the
programmer

(B) Syntax is generally checked by the
programmer

(C) Semantics is checked mechanically
by a computer

(D) None of the above

39 11001001 H FfeA § I9 & o
CRC ST x°+1 1 STANT HT& Faiiid
fopan s &1 WRw S At fopen s =T
CLE

(A) 11001001000
(B) 11001001011
(C) 11001010

(D) 110010010011

A o7l ST @ e w % fore e fafy
&1 3 fopar s §1

(A) T

(B) g dfereyH

(©) ou A

(D) S A H1g off

Frge oS & oo qon Rt fewdi
& oo & s Ol §2

(A) Taifes, TUmR #t ST o

(B) fodsra m=a: TmR & 5N = fohan
ST &

©) fodfes, dFHed Frgx g 3%
fopar e @

(D) 9 # g ot 7

SPACE FOR ROUGH WORK / T% &1 & fad wrg
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65.

66.

Which one of the given option is a 65.

possible operation performed by following
sequence of micro-operations ?

MBR - PC

MAR X

PC«Y

Memory <— MBR

(A) Conditional branch

(B) Instruction fetch

(C) Initiation of interrupt service

(D) Operand fetch

In which of the following activity the CPU 66.

will involve after receiving an interrupt

from an I/O device ?

(A) Hands over control of address bus
and data bus to the interrupting

device

(B) Branches off to the interrupt service
routine after completion of the

current instruction

(C) Branches off to the interrupt service

routine immediately

(D) Halts for a pre-determined time

T 8 H-9 o T Sifer e §
S et fed T W) SifRe % 2 g
ferant s ?

MBR « PC

MAR « X

PC Y

Memory < MBR

(A)  FHEREA S

(B) THIRA B

(©) m@mmm

(D) e e

frafafea 4 9 feg nfafafy 9, 170 fearw
Y Y WK HE & A6, W0, mite
B ?

(A) TSH 9 R T 99 w1 Fremor gexfien
fearg =1 9g@ HT)

(B) aﬁmaﬁm%qn@%%m;w
Tt t femrerat & samd o

(C) F= Qa1 = o=l &l i< @aw
FHEAT

(D) T g4 Fruifta aag & fag S|

SPACE FOR ROUGH WORK / % & & & srg
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67.

68.

69.

There is a system with 64 pages of
512 byte page size and a physical memory
of 32 frames, How many bits are required
in logical and physical address ?

(A) 15and 14
(B) 10 and 12
(C) 14 and 16

(D) 9and6

Which one of the statement is correct
with key constraint in RDBMS ?

(A) Primary key C Super key C
Candidate key '

(B) Primary key C Candidate key C
Super key

- (C) Super key C Candidate key C

Primary key

(D) Super key C Primary key C
Candidate key

How is communication established in

MySQL ?
(A) using SQL
(B) using Network calls

(C) wusing structure programming
languages like C or C+ +

(D) wusing APIs

67.

68.

69.

T faen foad 64 99 & @ vw U9
512 §1gE &1 © A1 32 WY i THfsea aad
¥ e wd fefoaema e & fod fvaa
forem =1 e 2t 2

(A) 15T 14
(B) 10 Tl 12
(C) 14 916

(D) 976

frafafea § 9 %9 O %299 RDBMS % &1
HaIE F o g §2

(A) Primary key C Super key C
Candidate key

(B) Primary key C Candidate key C
Super key

(C) Super key C Candidate key C
Primary key

(D) Super key C Primary key C
Candidate key

MySQL ¥ HeR 9 wenfig famar sar €2

(A) SQL I 3T &
(B) \ZE%h hidl BT STANT HFlh

(C) CAC+ + AW & TFaR JiET
1 ITANT Fleh

(D) APIs &I 3941 &H

SPACE FOR ROUGH WORK / T% &4 & fad g

9021/ID-BS/RCE-M

Set-D




oivg Fn , Qo 9 @ T

70. In___ congestion control, policies 70.
are applied to prevent congestion before +fIg I Uk < fag Aifaai an] &1 <t € |
it happens.
(A) open-loop (A) 39T T
(B) closed-loop (B) TS U
(C) either (A) or (B) (© Wd (A) =W (B) ;
(D) neither (A) nor (B) (D) (A) R (B) T
71. How many swappings are required to sort 71.  d9c Gi THNTH h1 SUANT HTh SUE shY
the following elements 8, 22, 7, 9, 31, 5, H, Freafafed 9@ 8, 22,7, 9,31, 5, 13 9
13 in ascending order using Bubble FHG H o fau fora W =it sterehar
Sorting algorithm ? Bt ?
A) 11 (A) 11
(B) 13 (B) 13
(€ 15 <€ 15
(D) 10 (D) 10
72. Connections to the thick Ethernet cable 72. HREI $UTIE FIA h FARH H SMHIN T
are generally made using : I T & %
(A) RJ-45 (A) RJ-45
(B) BNC connectors (B) BNC HiaeH
(C) Vampire taps (C) FHRR o9
(D) None of the above (D) T | g ot T
SPACE FOR ROUGH WORK / T %14 & ferd srrg
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73. Consider the following two claims : 73.

(@) (n+k)™=0(n"), where k and m

are constants.
(b) 2M+1=0O(2m)
Which of these claims are correct ?
(A) (a) only
() (b)only
(©) (a) and (b)
(D) None of the above

74. Consider the Karnaugh map given below : 74.

BC

A 00 01 10 11
0 1 0 1 0
1 1 0 1 0

Which function it represents ?
(A) AB
(B) ABC
© BecC
(D) AB+BC+CA

75. Resource requirement in project becomes 75.

constant while the project is in its

progress stage.
(A) 40 to 55%

(B) 60 to 70%

(©) 80 to 90%

(D) 80 to 95% '

it 2 2l W R FH

(@) (n+km=om™), el k aM m fetis
g

(b) 222*1=00")

TAH | hIF |1 e U 2

(A) FF (a)

(B) Faa (b)

©) (a) 3T (b)

(D) IR H g ot 7

9 feu e e B9 ug faem =l

BC
A 00 01 10 11
0 1 0
1 1 0 1 0

g fore e o <uiier § 2
(A) AB
(B) ABC

(©) Be@C
(D) AB+BC+CA

ufedisrr § GuryE ot snavEehar feer € St
¥ wafer afEsm o ot
=0 | Bl § 1

(A) 40 ¥ 55%
B) 60 ¥ 70%
) 80 | 90%

(
(C
(D) 80 | 95%

SPACE FOR ROUGH WORK / T® &9 & ol sg
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76.

77.

78.

In which JavaScript was invented ?
(A) BellLab

(B)
©
(D)

Sun Microsoft
Intel

NetScape

Consider the grammar G :
S — DE
E — AF

T GB

A — DAla
B — GBJb
D—a
G-b

(A)
(B)
©
(D)

G is Type 0 grammar
G is in Chomeskian Normal form
G is in Greibaach Normal form

G is a regular grammar

Consider there are many RAM chip of
capacity 1024 words of 8-bits (1K X 8)
available in your lab. How many number
of 2x4 decoders with enable line is
required to construct a 16K X 16 RAM by
using 1K X8 RAM 7

(A) 6
(B) 5
() 4

7

- (D)x

76.

77.

78.

ST 1 STSHR Rt fopon T o2
(A) S@TEH

(B) ¥ wigshrEe ¥

(C) A H

(D) Fe=Hu H

TR G R fgar =i

S —» DE

E — AF

F — GB

A — DAJa

B — GBJb

D—a

G—-b

(A) G,0 TR HT U T
(B) G, FHHEA A WH H ¥
© G, Ja% e wi § F)
(D) G, T TR UM &

foar &% f& st ote A 8-faew &
1024 YIRI (1K x 8) &t &9al & &g W a1
11K x 8 TH 1 3T o3, 16K x16 19
9 & fau, feaa 9™ @ & 91y
2 x 4 Temre =f avashdar Bt ?

(A)
(B)
©)
(

6
5
4

D) 7

SPACE FOR ROUGH WORK / T% & & fordr wwrg
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79.

80.

81.

In a two-pass assembler the object code

generation is done during the :
(A) Second Pass

(B) First Pass

(C) Zeroeth Pass

(D) Not done by Assembler

What is the name of addressing mode in
which effective address of the operand is
calculated by adding a constant value to

the content of a register ?
(A) Indirect mode

(B) Index mode

(C) Absolute mode

(D) Immediate mode

Consider a direct mapped cache of size
32 KB with block size 32 bytes. The CPU

- generates 32-bit addresses. The number

of bits needed for cache indexing and the
number of tag bits are .

respectively.
(A) 10, 22
(B) 10, 17
(C) 5,17

(D) 15, 17

79.

80.

81.

T - TR H AT HIE TEH
¥ SN foran ST © -

(A) TEUTE

(B) G U™

(C) AT

(D) oHIE gRI &l feharn Sl

wefET dre &1 A wo ¥ e fedt W
F FEE H FSE T SITGHRT 8 &
TS TQ I TTOMT hi SR T2

(A) TERE HIE

(B) T WIS

(© i

(D) zfafede HAre

foar ¢ fF T SR tve %9 B fowe

afFR 32 KB iR ieh |18t 32 bytes ®1
g, 32-fae &1 v S HW R HW
sefrgn & foy e faeg =t gem 3t
tifecm s e e iy

(A) 10, 22
B) 10,17
) 5,17

(D) 15, 17
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82. The Oracle environment of database is 82. €IEH % Oracle AMERY H1 f1 & & §
called as : FeT ST ®
(A) Schema (A)  EHH
(B) Structure of data (B) €21 I W=
(C)I Instances (C) SR
(D) Relations (D) Wy
83. Which of the following sorting algorithm 83. f7= # forw wifdn sriitten & nlog(n) I
has worst case time complexity of T HY IEH HIFART] &2
nlog(n) ?
(A) Heap sort (A) dugE
(B) Selection sort (B) HelRM Wie
(C)  Quick sort (C) =&t |ie
(D) Insertion sort (D) THIF | _
84. 'ERmodel adequately considered in which 84. fTow e wid o ER HAled & Tfesaed
type of normal form : e fowar s & 2
(A) 2NF (A) 2NF
(B) 3NF (B) 3NF
(€) BCNEF (C) BCNF
(D) 1INF (D) INF
SPACE FOR ROUGH WORK / % &/ & o sme
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85.

86.

87.

In UML how Encapsulation (Aggregation)
relationship is represented :

(A) Line with hollow diamond at one

end
(B) Line with an arrow
(C) Line with solid diamond

(D) Line with hollow diamond at both

end

Quality management is related with how

many project ?
(A) One

(B) Two

(C) Three

(D) Many

In cryptography, the following uses
transposition ciphers and the keyword is
LAYER. Encrypt the following message
(Spaces are omitted during encryption).
WELCOME TO NETWORK SECURITY!

(A) WMEKREETSILTWETCOOCYONRU!
(B) EETSICOOCYWMEKRONRU!LTWET

(C) LTWETONRU!WMEKRCOOCYEETSI

(D) ONRUICOOCYLTWETEETSIWMEKR

85.

86.

87.

UML & 58 TIhaee (THAH0) oy
o1 wfaffa foran ST € -

(A) TH BR T TR SR 9 g

(B) U T & el T3
(C) 9 I F WY A
(D) THI BR W @IEe g & WY o

TuTer Wee TR afEisn @ Heiftd 2

(A) T

fremmnt #, frfafaa grautsem A

I ar © 3R wieE LAYER ®1 =

TRy Tishe oY (TfshwH & SR Rea wm

Frg ey E)

WELCOME TO NETWORK SECURITY!
(A) WMEKREETSILTWETCOOCYONRU!
(B) EETSICOOCYWMEKRONRU!LTWET
(C) LTWETONRU!'WMEKRCOOCYEETSI

(D) ONRU!COOCYLTWETEETSIWMEKR
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forer e 1 S et 7 7 2 i

88. Which device is used to connect a 88.
- peripheral to bus ? & for foran st 2
(A) RAM memory (A) WA
(B) Control fegister (B) Hug W
| (C) Interface (C) $THH
(D) None of these (D) T 9 ®IE Tl
89. In order to perform concatenation of the 89. O() THa ¥ & 5 < T H WA F &
two given list in O(1) time, which of the feg, ﬁmﬁf@aﬁﬁm%amamw
tollowing data structure could be used to 1 o s w0 & o i s gehar €2
represent the list ?
(A) Doubly linked list (A) el forepe foe
(B)  Singly linked list (B) Tugel fare foe
(€) Array C) =N
(D) Circular doubly linked list (D) WEHeR Tt forpe fore
90. What interrupt is generated when an 90. e ¥ ¥ fowisa & 1w fepan ST €
attempt to divide by zero is made ? Al T T a7 Biell & 2
(A) Supervisor call interrupt (SVC) (A) THAYF HA T (SVC)
(B) Program interrupt (B) RIwH ¥ e
(C) 1/0 interrupt (C) I/O &h1E
(D) Timer interrupt (D) ZEW T THER
SPACE FOR ROUGH WORK / ™% &4 & fol sre
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91.

92.

Which sta‘temenf/s is/are true with 91.

concurrency protocol ?

a) Two phase locking protocol always
P &P Y
generate serializable schedule.

(b) Time stamp protocol generate
serializability and it is also deadlock

free.

() Two phase locking protocol does
not suffer from deadlock.

(d) Two phase locking protocol is better
than time stamp protocol.

(A) (b) and (¢)
(B) (a) and (b)
(C) (c) and (d)
(D) (a), (b) and (c)

What is the output of the following 92,

program segment if compiler allocates
4 bytes for storing integer variable ?

#include<stdio.h>
#define P 30
#define Q 20
void main()
n
int(*a)[P][Ql;
printf(” %d”, sizeof(*a));

(A) 1200
(B) 2400
(C) 240
(D) 4800

FAHEH TS F Y BA Y FH T
82
(2) = WS |feHT gIiH™@ TR

fafaemzsee Asa SFE S B

(b) <IT3H T  FiTIHTA AR
fafiessife S =3 § 3R 98
Toaten W ot ¥

(c) T TSl Akt NIEhIa el § U
T e

(d) T HI AfHT GEH TR Wil
N § 3T § |

(A) () 3 (o)

(B) (a) ¥ (b)

(©) (o) 3 (d)

D) (a), () 3R ()

frmfafaa W Y= 1 SIS M A
Ifg ShugeR FRISK AP B LI F0
¥ fere 4 wge mafea g2
#include<stdio.h>

#define P 30
#define Q 20

- void main()

{
int(*a)[P][Q;
printf(“%d”, sizeof(*a));

}

(A) 1200

(B) 2400

(C) 240

(D) 4800
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93. Consider a disk queue with request for 93.

94.

1/0 to blocks on the cylinders :
98, 183, 37, 122, 14, 124, 65, 67

If the disk head is initially at cylinder 53,
calculate the no. of head movements
using SSTF disk scheduling.

(A) 640
(B) 236
(C) 208

(D) 210

Which of the following statement/s 94.

is/are true ?

(@) Single attribute relation is always in
2NF

(b) Two attributed relation is always in
BCNF

(c) 3NF always preserve dependency
- and lossless

(d) BCNF always preserves

dependency but not lossless
@A) @) @ @
B (@) ®) ()
© @ @
(D) (@), (), (©), (d)

T % fewr 99, s f 1/0, Remwe w1 @@
F & o s o fafaet W & ol 3,
1 oA § T § A AR § fews 9853
fafemet W ® SSTF feww fRregfen = 3=

98, 183, 37, 122, 14, 124, 65, 67
(A) 640 |

(B) 236

(C) 208

(D) 210

1 o @ wiE-T/Q weE T B/E

(a) foma udiege fieiem Toem 2NF # g
T

b) 2 uege e g8 BONF 2§

(c) 3NF goen feued ud afaeid =l wifda
FHT R

(d) BCNF gaen feddd = wifera =t §
AT i TG |

(A) (@), @) (@

(B) (), (b), (d)

© (@ @

(D) (@), (), (9), (d)
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95.

96.

97.

™)

Which of the following is the linear

‘sorting algorithm ?

(A) " Thsertion sort
(B) Seléc,tion sort
(C) Bubble sort

(D) Bucket sort

For some page replacement algorithms,
the page fault rate may increase as the
number of allocated frames increases, this

unexpected result is known as :
(4)
(B)
(©)

Frame anomaly
Peterson’s problem.
Belady’s anomaly

Bounded waiting

Which “statement describes partial

functional dependancy ?

() Xprime™ YPrime

(®)  XNonprime™ YNonprime
©  Xpvime™ Ytomprime
() XNonprime ™ YPrime
(A) (a) and (b)

(B) () only

(©) (9) and (d)

(D) (a) (b) and (d)

95.

96.

97.

(B)

et & B e W SR 32

%o o R Teifen § s st T Y
T S & 9 IS hIee 9 ST 8 | 39 TE
F ITFIIRE e M 99 § ¢

T ST

reE T diser
STl STt
AFree afe

(A)

©

(D)

ﬁm%mqﬁhawm%ﬁ%@mw
FATT :

(a)
(b)
(©
(d)
A) (@
G
(©) (o) R (q)
(D) (@

Xprime™ YPrime
XNonprime*) YNonprime
XPrime_v');YNox‘lprime
XNor’mprimev-’) YPrime

) 3 (b)
c) only

), (b) 3R (d)

SPACE FOR ROUGH -WORK /. Y% @& & fod <g
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98. Which of the following problem of RS ~ 98. RS fRa-wly & w4 @ wa&m &1 JK
flip-flop is eliminated by JK flip-flop ? FiRTI- AT T Sl © 2
(A) S=R=1 (A) S=R=1
(B) CP=0 (B) CP=0
(C) R=1,CP=1 (C) R=1,CP=1
(D) R=0,CP=0 (D) R=0,CP=0

- 99, JDBC connection pool advantageous is in : 99. JDBC R Jd TEAT-=Sad Bl §
(A) Where performance parameters are (A) STei geet YurteT %y §
less ”
(B) Where memory consumption is (B) &l A Rl @ g §
optimal

(C) Where memory required is less © STel Wi Tt STEvashal %9 )
(D) Where efficient performance (D) Sidl ENCI LN

100. For every pair of transaction T, and Tj 100. T, 3ﬂ'{T ISR & Y Sel o ol et
such that T; reads a data item previously T, T, é? e ¥ forg T amge ) e §
written by T,, then the commit operation 'Eﬁ T; '35 S & S?Tcﬁ'ﬂ:l RRESH T; I HL
of T, appeares before the read operation C‘HT‘ﬁQFT TR B g | Maaawmél@ga%
of T, the above statement describe types g 2159 &l FUF a § 2
of schedule :
(A) Strict schedule (A) Tew ey«
(B) Recoverable Schedule (B) Tewataa wega
(C) Cascade Schedule (C) wHFS A
(D) All (A), (B) and (C) (D) =+t (A), (B) 3R (C)

SPACE FOR ROUGH WORK / T% w1d & fo™l sg
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101.

102.

103.

If the time quantum is too large in RR
scheduling, it becomes :

(A) FCFS
(B) SRN
©

(D)

SPN

HRRN

Two procedures both of which treat the
other as a called procedure and itself the
callee, are called as :

(A) Master-slave routines
(B) Sub-sub-routines

Co-routines

Ambiguous master-slave routines

Identify the normal form for given relation
R(A, B, C) with functional dependency.

F={A-B, B>C, C>A}

(A) 1NF

(B) 2NF
(C) BCNF

(D) 3NF

101.

102.

103.

3R T3re fer Rreygfein | <13y saien =g
T E A AE S A

(A) FCFS |
SRN
SPN

HRRN

1 yfsrard f5= F < T ufrar & wg H
@@W%W@Eiﬁm(callee)%
w9 H, e S

(A) ARR-wE wfed

(B) He-Ha-®feA
(C) we-wfeA
(D) TR HRIT-Ueid ®feA

fed ™ AT R(A, B, C) foret et
<N

" F={A-B, B5C, C—>A} ®, & Hd BH &I

TEdH
(A) 1NF

(B) 2NF

(C) BCNF

(D) 3NF

SPACE FOR ROUGH WORK / T% & & ferdl sirg
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104, The year in which HTML was first ~ 104. 98 94 fore HTML Weef SR S fehar
proposed is : T AT '
(A) 1995 (A) 1995
(B) 1985 (B) 1985
(C) 2010 (C) 2010
(D) 1990 (D) 1990
105. Examples of systém programs include : 105. Yol SEiHE % STl § i €
(A) Operating system of computer (A) HHH ?ﬂ sqfen fawen
(B) Trace program | (B) é’HBﬁ'ﬂ'ﬂ? .
(C) Compiler (C) Hehetdh
(D)";V" All of above (D) v w
~ 106. Which one of the following protocols is ~ 106. frefefag ® @ S W YRR T 6 TH
~NOT used to resolve one form of address w7 9 W ﬁ N EI':T ¥ forg soam
to another one ? [EEIEIGI] -
(A) DNS (A) DNS
(B) ARP (B) ARP
(C) DHCP (C) DHCP
(D) RARP (D) RARP
107 A situation in which all the programs  107. U feerfa forud Toft T TR T @
continue to run but fails to make any & wifea forelt 9t Iow w0 H el & 9,
progress is called : T HEd ©
(A) Deadlock (A) STdlh
- (B) Starvation (B) WIHYH
(C) Threshing (C) ofm
(D) Fragmentation ‘ (D) ﬁ’ﬂﬁ%ﬂ:{w
SPACE FOR ROUGH WORK / T &rd & for&t wmg
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108, The expression Y =AB+ A B

represented by :

(A)
(B)
(©)
(D)

A+B
A®B

109. Which of the following statements are

true ?

(@)

(©)

Depth-first-search can be used to
find the connected components of
a graph.

Given the prefix and postfix walks
of a binary tree, the tree cannot be

re-constructed uniquely.

Optimal binary search tree
construction can be performed
dynamic

efficiently  using

programming,.

Breadth-first-search cannot be used
to find connected components of a
graph.

(a) and (d)
(a) and (b)
() and (c)

(a), (b) and (c)

is

108. §HIHW Y = AB+ A B & e = ®Y

W I FLHFT &2

(A)
(B)
(©)
(D)

A+B

A®B

109. FrE i S A FA g &2

(@)

)

(©)

(d)

(D)

Uik S i T T e
fou Tw-w=E-wd &1 ST fEa s
Taar T

T fo & @ ™ fufesy aa
Treftrad e § gfeen f &t gtem
TE H1 T T

SEATHS T & 394N 9 e
AT WL 2 H T SemargE I S
Hehdl B

UIE & FAIfS 92! H1 YT o &
foTT siey-wE-ad &1 39 78 fhan
T T |

(a) AT (d)

(a) T (b)

(a) T ()

(a), (b) T (c)
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110. If L={a""c"/n = 1} then L is:

(A) Context free language
(B) Context sensitive language
(C) Regular language

(D) Neither context free language nor
Regular language

110. IE L={a"b"c"/n > 1} TOL T :
(A) HIRFRS T A
(B) TRz R TS
(C) TEeR W

(D) A HRF W sl 3R 7 & IR
SIEE]

111. Consider three different schedule for 111. &9 3T m ED Q'E'TK{ Ty, Ty, Ty Eaf
transactions T;, T,, T5: 2 H TEd §?'3l :
T, T, T, T, T, T,
Read(X) Read(X)
Read(Y) Read(Y)
Write(Y) Read(Y) Write(Y) Read(Y)
Write(X) | Write(X)
Write(X) Write(X)
Read(X) Read(X)
Write(X) Write(X)
Which schedule is correct serialization for Eaciksi] ﬁ@mﬂ e fafaemsaemA %, FW F
above transaction ? St & o ? )
(A) T,-=T-T, (A) Ty-=T3-T,
(B) T,»T;—=T; (B) T,—»T;—T,
(C) T,->T—T; (C) Ty,>T3-T,
(D) T3~—>T1—>T.2 (D) Ty—=T,—T,
SPACE FOR ROUGH WORK / % &/l & o wrg
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112. What is the maximum size of data that ~ 112. S FHAH TFR (size) FNE o 3T
the application layer can pass on to the W = TCP WXa %I IR T Tehelt &2
TCP layer below ?

(A) Any size (A) =g ¥t TR

(B) 216 bytes-size of TCP header (B) 216 WETH-TCP ¥ I AHR
(C) 216 bytes (C) 216 ST32H

(D) 1500 bytes (D) 1500 =T3H

113. A compiler runs on one machine and 113. FHEeR U WY W Fedl § 3R & oy

produces code for a different machine is = w3 & fow @i &1 foio &t 8,
known as : ST SRR
(A) Cross compiler (A) Y FHETZR
(B) One pass compiler (B) & U HIIZER
(C) Interpreter (C) T=EAR
(D) None of the above (D) ST | &I off 7
114. CSS code Comment syntax is : 114. CSS #IE AR WE=H ¢ :
(A) /*acomment */ (A) /* u feuoit +/
(B) \*acomment *\ | (B) \* T feomoit =\
(©) // acomment // © // T femht /7

(D) <\ a comment \> (D) <\ T feoof \>
SPACE FOR ROUGH WORK / T® &% & &8 wrrg
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115.

116.

117.

Which of the following is the main reason
to degrade the performance of a pipelined

processor ?

(A) The pipeline stages share hardware

resources

(B) The pipeline stages have different
delays

(C) Consecutive instructions are

.depended on each other
(D) All of the above

Let S={x|x be a set x x } then what do
you mean by Russels paradox ?

(A)
(B) SeSorSeS

Sis a set

(C) S¢SnSeS

(D) NeitherS¢ SnorSe S

Halting problem for Turing Machine
states that :

(A) The Turing Machine M halts as

input w is undecidable.

(B) The Turing Machine M halts as
input w is decidable.

(C) There exists a Turing Machine M to
accepts all inputs w.

(D) There doesnot exists a Turing

Machine to accepts atleast some

input w.

115.

116.

117.

frafafea 4 @ sH-W & & &R0
RIS TIEET I JGT HH ALl 8 7

YIS =01 TSI HHTEH] ] W=
W B
(B) rEvesT =l § fafvm <O g B

(A)

(©) Fteryfee e Tk g W it g

gl
Sugad |t |

(D)

AES={x | x, x x T TY=4} B, Tl Ted
Yureter o o1ef B fo

(

(

(C) SeSnSeS

(D) 7WSeSTE Se S

ST Tefia # erfed e seer ¢ i

(A) T w & Iifaieia 87 w S
T M %h ST & |

(B) TIYS w <k Fiofty 8 W gt wef
M % ST T |

(C)  wft $TYEl w ! WleR A Sl S
i M & stferca 1

TEr g of =i weie 7§ S v
T o} 1Y w THR HI B
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118.

119.

Which of the statements is incorrect with
respect to ER model and Relational
model ?

(A) An attribute of an entity can be
composite. A

(B) In a row of relational table, an
attribute can have more than one
value.

(C) In a row of relational table, an
attribute can have exactly one value
or a NULL value.

(D) An attribute of an entity can have
more than one value.

Which of the following are true regarding
distance - vector and link - state routing
protocols ?

(a) Link state sends its complete routing
table out all active interfaces on
periodic time intervals.

(b) Distance vector sends its complete
routing table out to all active
interfaces on periodic time intervals.

(¢) Link state sends updates containing
the state of its own links to all
routers in the internetwork.

(d) Distance vector sends updates
containing the state of its own links
to all routers in the internetwork.

(A)  (a) only

(B)  (b) only

(C) (b) and (c) only

(D) None of the above

118. hiT 91 FH ER Higsl 3R Rewvre oied &

119.

Heof H era €7

(A) T TR F 0 e FEifee &
el ¥ |

B) Terwre o % & W § T e
F TH W S dog B Tk €

(C) TRIAd 2o & T U ¥ & Qe
1 o T Sy B TR © A Aoy
B U ¥ |

Th THE & T Uese T 9
ST ey B WeRdl! § |

(D)

fefafea @ 9 &9 91 gh-a9 3t
fAs-we ®fn Ukmia % o § 9§72

(a) Tol-we smafys ang oiauer | aeft
Hish ST I QU W F forg oo
ot At difersht AT R |

(b) o TEfuR T9T 3Taue W gt
Hisha 30T &I U A & g oot
ot AP et ST ¥ )

(c) Tow-we gerieas o aft w=ed &
e st9m @ & e =t feafa
3T ATl B

(d) TH-9RI Feticas § 9+t T8 &
fau et @ & folw ot feafa o
IS Al B

(A) I (a)

(B) < (b)

(©) Fe (b) 3 ()

(D) T 9 = o T
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120. In round robin, if there are n number of

121.

122.

processes in a system and t, is the time
quantum, what is the maximum time a
process needs to wait for its execution ?
(A) (n+1)xt

B) @-1)xt

(C) nxt

(t—1)

(D) n x 2

In associative memory, which of ‘the
following search concept is used ?

(A) Binary search

(B) Sequential search
(C) Parallel search
(D)

Selection search

Calculate the number of page faults for
the following reference string using
optimum algorithm with frame size as 3 :

502103024303213015
(A) 10
(B) 15
© 9

(D) 13

120.

121.

122.

qee-Ufem H, 3R n WET T fedlt fawew
o qT t TR FATH B Al ITEYH hl TR
B d AfeRas T SIS ST e ?

(A) (m+1)xt
(B) (m—-1)xt
(G nxt

(t—1)
==

(D) nX

wafEda T # -1 T wre 3TE
T S S g ?

CIEENICE]
(B) fTasa=itael w4
(C) e w4
EEENERE

(A)

(D)

ST Ty T 1 g, e 53
T YEe fE % R A9 W # e
ward, afe 9 Wes 3 9

502103024303213015
(A) 10
(B) 15
© 9

(D) 13
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123.

124.

125.

_is designed to solve a specific

problem or to do a specific task.

Application Software

(A)
(B)

System Software

(C) Utility Software

(D) User

Specification of SRS is also known as :

(A) Beta testing

(B) Black box testing

©)

Integrated testing

(D) Alpha testing

Which of the following is designed to
control the operations of a computer ?

(A) Application software

(B)

System software

(C) Utility software

(D) User

123.

124.

125.

. e fafye g @ ' e
71 s fafvre s w0 % o fesga e
TR

(A) TRAHIA HHRTHR
(B) Tow=d HiweawL
(C) Fferdt wira=
(D) ITERTHA!

SRS = ferferar fore &9 & S ST 82
(A) e i

(B) &R sl &0l
(C) THHT T

(D) TR THeoT

frafafaa § 9 7Y SR % S9H H
fifi = % forg feste feran w1 ©2

(A) TR G

(B) fawn Hiwa=R

(C) feferR! |ima

(D) YAl
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126. Value Adjustment Factor (VAF) in  126. ha¥F R foavayw § qou qHEieH SR
Function Point Analysis having how % (VAF) e areor €2
many characteristics ?
(A) 14 (A) 14
(B) 15 (B) 15
G 13 (© 13
(D) 12 (D) 12
127. The string 0104 is accepted by : 127. T&7 0104 wiewr s @
(A) Deterministic finite automata (A) e it aidme gr
(B) Non-deterministic finite automata (B) -Trwerarcas wifhg sffdme g
(C) Two dimensional deterministic (C) Tefomita fFreaarers wifta aidmer g
finite automata
(D) Push down automata (D) T TA 3T g
128. A linker is given object modules for a set 128. ek Tt il STeTT-3TeTT Gahfera srfsra ED
of programs that were compiled Teh U< & foru aTfssier TITE% fean s &1
separately. What information need not st Higge H i T SIS ket e
be included in an object module ? I e TE €2
(A) Object code (A) Al FIS
(B) Relocation bits (B) Wik foeg
(C) Names and Locations of all external (C) 3fissiae wiggw ® uftenfig gt emed)
symbols defined in the object Weitehl o A iR T
module
(D) Absolute addresses of internal (D) oTafek wetehl * ot (absolute) T
symbols
SPACE FOR ROUGH WORK / % & & fo& se
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129. Access time of the symbol table will be ~ 129. ol o 1 T IR W@ &R0 S

linear, if it is implemented by a : TER] I BT ©
(A) linear list (A) Terrr fowe gra
(B) hash table (B) T IHA g
(C) search tree (C) wd#gm
(D) none of the .;:lbOVe (D) SWH H g off Tl
130. Software reuse disadvantage is : 130. TR FH T7: YA THEE © :
(A) Faster software development (A) dStt 9§ wiweaa foaewm
(B) High effectiveness (B) I FurERieral
(C) Lower risks (C) =R Siifem
(D) Lower costs (D) =¥ TWIq

131. The situation_where more than one 131. U feafa G{ﬁ@'@ HFWUT@'H@%‘T@ET

process access and update the same data & T €9 H T T ST W W E
concurrently and the result depends on 3R feree 3% TferTeRITH & faaeg w iR
the sequence of execution in which it takes B, <l e g

place is known as :

(A) critical section (A) fwrfema dwm

(B) race condition (B) 1§ HeRRM

(C) deadlock , (C) <edih

(D) context switching (D) F wifan
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132. File extension for JavaScript Code is :

(A) jsc
(B) js
©) jvs

(D) jev

133. In a specific customer request which
project is undertaken as consequences ?

(A) Concept design projects

(B) Enhancement projects

(C) New application development

projects

(D) Maintenance projects

134. Smallest unit of storage in an Oracle

database :

(A) Block of data
(B) Segment of data
(C) Extent

(D) File on data

132. A1 BhIE HIS H FREA THIVH ¢

(A)
(B)
©

(D)

Jsc
Jjs
Jjvs

Jjev

133. T fofire I o1qdy & oF @ afesm
TR F T F A WA T2

(A)

(B)
©)

(D)

ot giEgieme

@ gfEsEe

134. 3FA TIEH H WIS T Tl VIS TFE :

(A)
(B)

(©)

(D)

2T H AR
T H AT
famr

A W FEA
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135. What is the 2's complement of decimal ~ 135. THIHA TEX 4122 T 2's HIESAHZ

number +122 ? ¥?

(A) 01111010 (A) 01111010
(B) 10000101 | (B) 10000101
(©) 01001011 (€) 01001011
(D) 01111100 (D) 01111100

136. Inacompiler, keywords of alanguageare ~ 136. SR H oTa <l ﬁa@\{ﬁ TeAM Bt

recognized during : 2:

(A) Parsing of the program | (A) e & Wi & A

(B) Code ;géneration (B) &2 ﬁn’rw%fﬁm

(C) The lexical analysis of the pfogram (C) v % wAfmea fawera & SR
(D) Data flow analysis, (D) SR yaTe faverm % /M

137. Time necessary to move the disk arm to 137. Te=n STFf =1 aifsd fafast tl'(Flﬁ ERUE|

the desired cylinder is called : AT T B FE
(A) seek time (A) HiF |

(B) rotation latency (B) ¥ el
(C) access time (C) T TEH
(D) read time N, (D) dE EH
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138.

139.

Which DFA is correct to all strings W over
(0, 1) such that the number of 1’s in W is
3mod4?

0#@0

1 J1
0@y—— -@o

Consider the graph, which of the
following is a valid topological sorting ?

@) /@
® »©)
(A) ABCD
(B) DACB
(C) BADC
(D) ABDC

138.

139.

(0,1) W, |+t fgwii W & foT %19 @1 DFA
wE g R W H 1 &t Hed 3 Mg 4 9

(A)
(B)
o« P
o 1l
—
(D)
=1 7 W fa=m i qen sage f fre
T T @ 9y et GifeT § 2
———
® @
(A) ABCD
(B) DACB
(C) BADC
(D) ABDC
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1490.

141.

For a given computer system, access time
for a cache memory and main memory is
given 30ns and 150ns, respectively.
Assume that hit ratio is 80%. What is the
average access time of CPU ?

(A) 30
(B) 60
(C) 70
150

(D)

There are n stations in a slotted LAN.
Each station attempts to transmit with a
probability “p” in each time slot. What is
the probability that only one station
transmite in a given time slot ?

(A) np(l-p)*~!
(B) (1-pn~!

© p-pn-t

1-(1~pp-1

140.

141.

Tk hr fied & fore, et A o1 uedg
YT 30ns X BF A0 &1 oUE 9UY
150ns f&m w1 §1 mﬁsﬁuﬁzaﬂmﬂ
80% ® @ WY, T TR TR GHI
B ?

(A) 30
(B) 60
(C) 70

150

T Wieg LAN ® n @A &1 9% ©yA
YI® AT Wil ¥ Wil p % WY §9R
F FHT YAH FICA S T GIE ¥
had Th WIA T Hiyga 999 wie o
JHITG T & 2

(A) np(l-p~1

(D) 1-@1-p~*
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142. A bompilef whi;c‘h aHows ohly the 142. UHh geheTeh sﬁsﬁaaﬁgéﬁ 35‘ Elffl‘ H\ 'Qiliﬂﬁ '@3

: mod1f1ed section of the source code to be EQl E:I St w0 ﬁ Hjﬂﬁ[ é’?ﬂ % B
recomplled is called as : FRITAAE?
(A) Incremental compiler (A) Flglia Hehereh
(B) Reconfigurable compiler (B) TqT: WA W
(C) Dynamic compiler (C) Tifeiter Hehereh
(D) Selective compller (D) FIARHF HeheTsh )

143. PHP programming first introduced for 143. PHP WwifHn gell IR ford 33899 & oI

which purpose ? JE S T T

(A) Embedded Programming (A) Taee gEnfET

(B) System Programming (B) faww ot

(C)  Exception Handling Programming (C) THWH gefem ‘Jﬁ"JITﬁ:I.‘T(
(D) Modilar Programming (D) WiEIeR gRnfHn

144 Wthh of the following statement is not 144. ﬁﬁlﬁﬁ@? RIS EECU] %7 A

true ?
(a) Canonical LR parser is more (a) FHAfTee LR e, LALR & &
powerful than LALR parser 3 RED SiferreTedt BT € 1
“(b)  LALR parser is more powerful than (b) LALR WRR, SAifehel LR IR
Canonical LR parser a1 fere wifeRmemett g §
(c) The parsers SLR, Canonical LR and, (c) TR SLR, HAIffHa LR @& LALR
~it LAER have the same power AT T iRl T wEE B € )
(A) Only @ (8) A ()
(B) (@ and () (B) (a) T (b)
(C) (@), (b) and (c) (©) (@), (b) T (c)
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145.

146.

If the executing program size is greater
thann the existing RAM of a computer, it
is still possible to execute the program if
the OS supports : '

(A) Multitasking

(B) Virtual Memory
(C) Paging System

(D) None of the above

Which of the following is always TRUE ?

(A) A compiled program uses more
memory than an interpreted

program.

(B) A compiler converts a program to
a lower level language for
execution. -

(C) A compiler takes less memory than
an interpreter.

(D) Compiled programs take more time
for execution than interpreted

programs.

145.

146.

g foret Tasiafen T & s P
¥ WS RAM ¥ a1 g1 W+t afg oS
_____ 1 AL Y O T TR
feman s when R

(A) et

(B) a3 AErd
(C) TSt faew
(D) 39U H FIg off e

frafafaa ¥ Y wF-weam w82

(A) Tw Hwfom wrEHA T e feg
TQ FThRH T g H 3ifes wyfa w
SYART F T |

(B) TUF Hawew TH FHwT 7 Fromea %
form fe=1 R w) e | giEfaa s
7

(C) | TS GFhars Tk QUM (interpreter)
I g A w9 Hi @ g

Henford shrdsh™ e R T SRl
i gor § frearea & fag sy a3
Tl
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147. System development life cycle is not a 147. vorel o e = &1 T i =1

named phase of : B E

(A) Coding | (A) Hfen
(B) Testing (B) Tham
(C) Designing (C) Tesmefm
(D) Assessment (D) 3Ther

148. What is the output of the following 148. ﬁmﬁf@awmﬁzwmw@m

program segment ?

for (i=0; i<10; + +1) for (i=0; i<10; + +1i)
printf(“%d”, i&1) printf(“%d”, i&1)
(A) 0101010101 (A) 0101010101
(B) 0000000000 (B) 0000000000
(€) 0111111111 (C) 0111111111
(D) 1111111111 (D) 1111111111
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Set - D 54 9021/1D-BS/RCE-M




149. In a system, if it takes 20 ns to search the

150.

TLB and 100 ns to access memory, find
the effective access time with 80% hit-
ratio.

(A) 130 ns
(B
(®)
(D)

180 ns

~—

122 ns
140 ns

Identify the correct sequence in which the
following packets are transmitted on the
network by a host when a browser
requests a webpage from a remote server,
assuming that the host has just been

restarted:

HTTP GET request, DNS query,
TCP SYN

DNS query, HTTP GET request,
TCP SYN
DNS query, TCP SYN, HTTP GET

request

TCP SYN, DNS query, HTTP GET

request

-00o0-

149.

150.

e Ty St fge YR 80% &, SWR TLB #
Td FH T 20 ns @Tﬁtﬁﬁ'@lﬁﬂﬁw{)ns
ol ® 91 eThfeee AU TeY eRH u|
Exd|
(A)
(B)
(C) 122 ns

130 ns
180 ns

(D) 140 ns

T Y ! TeEE e foed frer Y uw
A gRI Jead W J9id e S ¥ s
TS TS Y ol ¥ Th A9 I 3T
FAT T, T8 A g o Bt o7eft 4 ey
fopam T %)

HTTP GET request, DNS query,
TCP SYN ‘

DNS query, HTTP GET request, TCP
SYN

DNS query, TCP SYN, HTTP GET

request

TCP SYN, DNS query, HTTP GET
request

-00o0-
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SET -D
IR 3ifeRrd H T T ¢ 36 } { JAfereRad 3ok @ 150
Time for marking answers : 3 Hours Maximum Marks : 150
B
1. 39 9-giEre § fr S g
TRA -1 50 3feh
(1) Tfafewa i fehey 1-20
(2) T Temed 21-35
(3) S STEHH TS iE IThad 36-50
Yo - 11 ' 100 R
(1) fefeat il (2) Free ARTESRA T afhesan (3) Wt ie el e (4) Teifes
(5) TRt SAF FFRIA (6) FEH fesTeT (7) SR f=y (8) TREEY (9) FFIY A
(10) Fer rnfi (1) wivedst SSHfERGT (12) 39 Teliser fesét U Swayde ok § wwife
ERE]
TEF U 1 3h H R e 150 T FA AR T
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Note :
1.  This Question Booklet contains Sections :
Section -1 50 Marks
(1) Analytical Reasoning Skills 1-20
(2) Verbal Skills 21-35
(3) General Awareness and Current Affairs 36-50
Section - II : 100 Marks
(1) Digital Logic (2) Computer Organization and Architecture (3) Programming and Data
Structures (4) Algorithms (5) Theory of Computation (6) Compiler Design (7) Operating
System (8) Databases (9) Computer Networks (10) System Programming (11) Software
Engineering (12) Web Application Design & Development etc. to related question.
Each question carries 1 mark. All 150 questions are compulsory.
2.  Indicate your answers on the OMR Answer-Sheet provided.
3. 1/4 mark will be deducted for each wrong Answer.
4.  Use of any type of calculator or log table and mobile phone is prohibited.
5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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